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http://www.youtube.com/watch?v=EY5titkMdJ8&NR=1
http://www.youtube.com/watch?v=EY5titkMdJ8&NR=1
http://nachrichten.t-online.de/spd-in-der-krise-sigmar-gabriel-sieht-partei-in-katastrophalem-zustand-/id_20312418/index
http://nachrichten.t-online.de/spd-in-der-krise-sigmar-gabriel-sieht-partei-in-katastrophalem-zustand-/id_20312418/index
http://www.welt.de/politik/deutschland/article5292706/Neu-Chef-Gabriel-singt-Loblied-auf-Ex-Chef-Beck.html
http://www.welt.de/politik/deutschland/article5292706/Neu-Chef-Gabriel-singt-Loblied-auf-Ex-Chef-Beck.html
http://www.welt.de/die-welt/politik/article5297402/Gabriel-will-ein-Kuemmerer-wie-Beck-werden.html
http://www.welt.de/die-welt/politik/article5297402/Gabriel-will-ein-Kuemmerer-wie-Beck-werden.html
http://stuttgarter-zeitung.de/stz/page/2276475_0_5546_-studentenproteste-hochschulrektoren-wollen-dialog.html
http://stuttgarter-zeitung.de/stz/page/2276475_0_5546_-studentenproteste-hochschulrektoren-wollen-dialog.html
http://stuttgarter-zeitung.de/stz/page/2276475_0_5546_-studentenproteste-hochschulrektoren-wollen-dialog.html
http://www.spd.de/de/pdf/mitglieder/091031_Mitgliederbestand.pdf
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